Notes
Nomen:______________________						       Latin-____Period
Date:________________________					Perfect System Passive Notes
For the Perfect System Passive you will use the _______________ Principal Part +__________________.
The ______________________ is also known as the __________________________________________.
(It declines like a _____________________________________________________________________.)
The ending for the ____________________ must agree with the Subject in ____________, 
____________, and ________________.
Therefore, you will use the following endings for the _______________________.
Singular, Masculine:
Singular, Feminine:
Singular, Neuter:
Plural, Masculine:
Plural, Feminine:
Plural, Neuter:
Perfect Indicative Passive: ___________________+__________________tense of sum
	
	Singular
	Plural

	1st 
	
	

	2nd
	
	

	3rd 
	
	



Translate:
Future Perfect Indicative Passive: ___________________+__________________tense of sum
	
	Singular
	Plural

	1st 
	
	

	2nd
	
	

	3rd 
	
	



Translate:


Pluperfect Indicative Passive: ___________________+__________________tense of sum
	
	Singular
	Plural

	1st 
	
	

	2nd
	
	

	3rd 
	
	



Translate:
Notes on Translating:
The Participle and Sum function together as a verbal unit.
Do not get confused on the tense. Try to see the two words as one unit.
E.g. 
· laudatus est does not equal is praised
· laudatus est is perfect so was praised/has been praised
Puella laudata est.
Puella laudata erit.
Puella laudata erat.
Pueri moniti sunt.
Pueri moniti erunt.
Pueri moniti erant.
Synopsis: Now you can do a full synopsis in the Indicative Mood
A Synopsis is __________________________________________________________________________.
	Present
	Future
	Imperfect
	Perfect
	Future Perfect
	Pluperfect

	Active
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